R4 R R DL ()
LS GRias)

(1) AN 124 %4
HAEHGR 81 4
2 TR (B RBER BT IR _ o] TR =
Eaf 95k [fhy [eews [R5 el [WE [AR [#5E [p5% [wuerd [Zofh i
HA\I%H 5 3 8
G % 2 2
SO 0
3 1 1
TR 0
EETK 0
A TEAE T PR 55 0
| BRI 0
ﬁ?—ﬂ 0
FREF R N W 1 1
TE TR 0
PESE AL 70 | 8 ST 0
M#ﬁa%ﬂ 55 55
NI BH % 2 @tk% T 2 2 7 11
ab?zf;;%ﬂ 0
il 7 0 1 2 3 0 0 0 0 0 2 o[ 63 o 81
@ BT - I 43 4 _
g 2R TR e E =
i 36 |Jeah [HLz [wis a8 ok [HUE [AR [0 [ [rers [Zofm !
EES®3:] 3 : 8
PESCF R 0
SO S ERE AL 0
SHEER 1 2 2 1 1 7
TR 0
ETEG 1 1
2 TEAE T PR G5 0
[ BRI 0
0
R 0
0
A8 AL 1 1
14 1 15
NG o= 1 3 2 5 11
0
il 1 0 1 3 3 0 3 0 0 0 2 T 22 43
KT D=FEZE R
(2)  FANZEER 26 4 SCEATHGH, W) - I BT O A F
s Sap G2 % %) ez FEA
" EEE [%EE [FES [mews |[HaE [HEE [WE [AR [IH8 [HE [rews [2of F | [resw [zofm| | kiR
H AR 7 1
EP!‘II%H 1 1 2
SO NS I1L%H 0
S 1 1 4 1 7
1 1
1 1
TR 0
0
0
R 0
% 0
T SRS |71 1 1
2 2
INlEES 1 1
0
i 0 0 0 0 3 0 2 1 0 0 0 1 5 0 5 0 0 0 1 3 o 26
MEOM=FEIERLE
P R AR 3 NG
e £ PRH FOIE Z ) ETR
A ikl pVAN AR VAN A AR vl B
B T ET 3 3
RS (R IR 0
T E 8 IETRE 6 11 15 14 854
i 6 11 15 17 0 8 57
><E(éfAH\J/AL%&%aﬁﬁm%ﬁ%&tuﬁé{h%( #3< —
5 | yoszag] FER)
@gg T T T T TR A /J\I s 1 s I
1 4] 1] 0] 0] 54 17 128
X’c@ﬂﬂ—ﬂP%’ﬁi - T - R
i HrAe 207 4 (BTAEE 23040)
BEZE g 1214)
10 K S 104)
A 345 4 <nu$u{ 3614:)




